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Example Candidate Responses — Paper 4

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge AS & A Level Psychology 9990,
and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum
and assessment objectives.

In this booklet candidate responses have been chosen from June 2018 scripts to exemplify a range of answers. For
questions 1 and 3, part question examples have been selected from different candidate scripts and therefore total
marks have not been provided for these questions.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are

June 2018 Question Paper 42

June 2018 Paper 42 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support

Cambridge International AS & A Level Psychology 9990 4
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Example Candidate Responses — Paper 4

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response
for a range of questions. The candidate answers are set in a table. In the left-hand column are the candidate answers,
and in the right-hand column are the examiner comments.

Example Candidate Response - high Examiner comments

Section A @ The wording of this particular
question means that just
Answer all questions in this section. answering ‘independent’ is correct.

Beware, however, because

‘independent’ means different

1 Inthe study by Canli et al. (brain scans and emotions), one variable was investigated by comparing things in different contexts in
neutral and negative scenes. psychology, so it is good practice

. to use the whole term.
(a) Isthisan independ“}r a dependent variable? Include a reason for your answer.

e Neither the concept that the
a4 ve e

A XA TR RN I LN S Y. 8/ 0 A= A Ik R /% A7 s a0 O R/ A XV L -l indanandant variohln ie chonaod
SROTA SX O NI Y Xk 78 38R ] OO : [1] /Examiner comments are \
N\ alongside the answers. These |-
Answers are by real candidates in exam conditions. explain where and why marks
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of
the classroom to improve their skills. Cambridge exams so you can
help your learners to refine
their exam technique.

\_ /

How the candidate could have improved their answer

» Although both parts of this answer earned full marks, it would be good practice to get into the habit of always
specifying ‘independent variable’, as using just a single word could be insufficient in response to other questions.
Note that an ‘independent measures design’ would be another case where a single word answer of ‘independent’
may not be adequate.

» Operationalisation is a concept that often leads to confusion. The simplest way to answer such a question would be
to think ‘How could | manipulate (or measure) this in practice?’, then write a description.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

In part (a) a common mistake was to give the dependent variable in place of the independent variable. The difference
between these two variables is simply one of giving them the right names. One way to remember which is which is to
think ‘What is the researcher INvestigating?’ this is their INdependent variable. The dependent variable is exactly what
it says, changes in this variable depend on, i.e. are caused by, the manipulation of the independent variable.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Example Candidate Responses — Paper 4

Question 1

Question

Part
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Example Candidate Response — high Examiner comments

ﬂ This is a good opening
sentence which is correct because
Lovell et al. (2006) found that

both interventions were equally
successful. This part of the
answer is awarded 1 mark.

e The answer states that

‘they were equally effective
when measured using

patient satisfaction and BDI’,
providing specific evidence of
how the effectiveness of the
treatments was measured. This
additional comment means that
another 1 mark is awarded.
Mark for (a) = 2 out of 2

The candidate addresses
the ‘why’, when stating ‘to make
comparisons before and after
the treatment’. This is awarded 2
marks.

o This part of the answer
addresses the ‘how’. Becks
Depression Inventory was used,
as was the Yale-Brown scale.
Identifying these two measures
gains 2 marks. The answer
continues to add more detail,
for example, one is ‘a 21 item
self-report test’ and the other
is a ‘semi-structured interview’.
These few words show correct
knowledge.

@ This repeats what was written
above. Repetition scores no
additional marks.

e This last paragraph adds
nothing in relation to the question.
Stating the ‘equal effectiveness’
belongs in part (a) of the answer.
Mark for (b) = 4 out of 4

Cambridge International AS & A Level Psychology 9990 6




Question

Part

Example Candidate Responses — Paper 4

Example Candidate Response - high, continued Examiner comments
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e Face-to-face has direct contact
with a therapist but there is no
direct contact with the telephone
cognitive-behavioural therapy
(CBT). This is a difference stating
both ‘sides’ and scores 2 marks.

© ‘Both delivered for an equal
amount of time’ is a similarity not a
difference.

9 ‘telephone CBT did not have
to travel’ is one side, but the other
side is ‘patients can benefit from
home’. This difference is too
vague, and is worth only partial
credit.

@ This is a third potential
difference and only two can be
credited.

@ This difference is in relation
to the participants. The question
states ‘in the delivery’ and the
allocation of participants is not
part of the delivery.

Mark for (c) = 3 out of 4
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Example Candidate Response - high, continued

Examiner comments

Question  Part
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@ This strength ‘it saves time’ is
compared to going to a laboratory
(or the room in which therapy is
conducted). If the answer was
no more than ‘it saves time’ then
it would be too vague for credit.
However, there is the comparison
with ‘going to a laboratory’ so this
strength is awarded 1 mark.

@ It is unclear what this sentence
is referring to.

@ The comment ‘is much
cheaper’ is too vague for credit.
‘a quick method’ is equally
vague. These comments are
not showing psychological
knowledge. However, ‘at any time
or any place’ is a valid strength
because telephone therapy could
be conducted at any time and in
theory, anywhere. 1 mark awarded
for this comment.

@ A weakness of telephone
therapy is that the therapist
cannot see facial expressions.
There is no expansion to explain
why this is a weakness, but as the
answer is not wrong, it is awarded
1 mark.

@ Patients may lie or exaggerate
on a telephone so this is a
weakness. However, they may do
so in face-to-face therapy. As this
is a possibility, that is not wrong,
then 1 mark is awarded.

@ This answer has a conclusion
that ‘face-to-face therapy is
more effective’. However, this
contradicts the conclusion of
Lovell et al. If they had given the
reasons why face-to face is more
effective then credit could have
been given.

4 outof 5

Mark for (d) =

Cambridge International AS & A Level Psychology 9990 8




Example Candidate Responses — Paper 4

How the candidate could have improved their answer

(b) Sentences were repeated, for example the ‘before and after’ comment, and marks will never be awarded twice

for the same information. Some parts of the answer were not relevant, for example that both treatments were equally
effective, which belonged in part (a) of the answer.

(c) Two differences were required and so only two differences should have been included. In this answer, there were
four different points: a ‘full’ difference, a ‘partial’ difference, a similarity and an inappropriate difference. Two differences
should have been given, each with ‘both sides’ stated.

(d) The conclusion should have been based on the strengths and weaknesses presented in the answer using

the psychological knowledge. Comments like ‘it is easier/cheaper/faster’ etc. are hardly psychological and without
explanation will receive no credit.

9 Cambridge International AS & A Level Psychology 9990
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Example Candidate Response — middle Examiner comments

Question  Part
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0 This is a correct answer
because the two therapies, ‘face-
to-face’ and ‘telephone’, were
equally effective. However, there
is no elaboration beyond the initial
answer and so the additional mark
is not awarded.

Marks for (a) = 1 out of 2

9 This part of the answer
addresses the ‘how’ part of the
question. The Y-BOCS is correct,
but the MOCI is not. There is
no elaboration regarding the
Y-BOCS, so 1 mark out of 2 is
awarded for the correct names.

9 This part of the answer
addresses the ‘why’ part of the
question. The answer states
‘to know the level... before the
therapy... compared to ratings
post-therapy’. The two important
elements are ‘before’ and ‘after’.
As this answer has both, 2 marks
out of 2 is awarded.

e The last sentence is an
attempt to add more detail and
elaboration. What is written, is
correct and it is why Y-BOCS was
used. Elaboration like this adds
value to the answer and confirms
that this is 2 out of 2 marks. The
sentence does not address the
‘how’ part and therefore marks are
not awarded
Mark for (b) = 3 out of 4

e This is true, but there is no
contrast with face-to-face therapy.
1 mark is awarded for a partial
answer.

@ Face-to-face therapy did
take longer to conduct, but
again there is no contrast with
telephone therapy and there is
no awareness of how long the
therapy sessions lasted. 1 mark is
awarded.
Mark for (c) = 2 out of 4

Cambridge International AS & A Level Psychology 9990 10
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Example Candidate Response — middle, continued

Examiner comments

Question

Part
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e The comment that ‘it is
convenient’ is too vague for any
credit to be awarded. If this was
extended to explain why it is
convenient then marks could be
awarded.

e This is an appropriate
weakness with an explanation. ‘it
[i.e. telephone therapy] is likely to
be affected through extraneous
variables [good psychological
terminology] like background
noise, meaning that it cannot be
conducted anywhere’ is a good
point with explanation and clearly
applied to the study. This part of
the answer is awarded 1 mark.

9 The comment ‘just like normal
CBT, it will take time’ does not
indicate whether this a strength
or a weakness. Following this,
is the comment that if time is
being invested, it's better done
properly... so face-to-face is a
more reasonable option’. This
is a general comment, neither a
strength nor a weakness. Lovell
et al. found both therapies were
equally effective, so this comment
is wrong. No credit for these
sentences.

@ The comment about ‘social
dysfunctioning’ is appropriate and
using telephone therapy would be
better for such people. This is then
expanded with the comment about
the patient being more relaxed.

@ Here is more explanation of the
same point.

11 Cambridge International AS & A Level Psychology 9990
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Example Candidate Response — middle, continued Examiner comments

Question  Part @ The same point continues here

' @— in more detail. However, the mark
g OLDWG‘WCG V‘MO“’& e Inodre . scheme only allocates 1 mark to
mb‘c oide it vied eng P o~ each point (strength or weakness),
| \one Bt adav A o 1S " | so this detailed explanation only
o900k Aloet agwﬂa % ahakdrex receives 1 mark.
Wik @%—ﬁ%@m@éﬂ&bc@{ ®_ o o _
UaT’ﬂq o %W 2 Lﬂ;@:ﬁf\oﬂ U — | | @ An individual who is ‘conscious
about germs’ might feel disturbed
6, 2 U.gsé o %r '%O(' f@( S0 : about using a telephone, but as
N @ ﬁ it will be their own telephone in
; their own home, they can clean

it as much as they wish to make

it germ-free. However, this is a
possible weakness, and so 1 mark
is awarded.

@ There is no conclusion.

@ Overall, this answer scores 3
marks: 2 marks for weaknesses
and 1 mark for strength.

Mark for (d) = 3 out of 5

How the candidate could have improved their answer

(a) This answer was correct, but lacked the elaboration needed to be awarded the second available mark. This
elaboration could have been a further explanation or an example from the study.

(b) The answer was correct, but it lacked the elaboration needed to be awarded the second available mark. Y-BOCS
was correct, but it has not be described. The candidate should have described that Y-BOCs is the Yale-Brown
obsessive-compulsive scale, and should have continued with that it is administered as a semi-structured interview or
that questions are asked on a five-point scale starting with 0 = none. The answer could also be improved if another
measure, another ‘how’ was included, such as the Beck Depression Inventory.

(c) The first part of the answer needed the words ‘whereas for face-to-face therapy the patients can see the therapist’.

It was not clear whether the second part of the answer was referring to the overall number of sessions or to the
duration of each session.

The candidate should have used psychological knowledge of the study. This would have helped to prevent repetition.
For example, by stating ‘the face-to-face sessions lasted for 60 minutes whereas the telephone sessions lasted for up
to 30 minutes’ shows a clear difference and shows correct psychological knowledge.

(d) The candidate should have given two strengths and two weaknesses and balancing each strength and weakness.
The strength was explained in too much detail, whereas the weaknesses needed more explanation. Each strength or
weakness is allocated 1 mark, however detailed the answer is. The conclusion was also absent from the answer.

Cambridge International AS & A Level Psychology 9990 12
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Example Candidate Response — low Examiner comments

Question  Part

SECTIon__A
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0 The answer states that
‘therapy... delivered face-to-face
was more effective as compare
to the Telephone ...". Lovell et al.

({OW’( L@Udﬁgr, I rm,hentﬂ ; (2006) found that the therapies
were equally effective.
L1 1 (b) | Pocoschess  oincesve pas wie] 8! anlt_ton Mark for (a) = 0 out of 2
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e The question asks how
researchers gathered baseline
data, and why they did this.
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vardomly s Hyovgh a | a hetator also mentions ‘...and interview
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Ademe ]ﬁmugh ] o R feo | and closed ended questions’, but
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con !m'wdQ d_in “*Q gw"’ o PQ\EE’Cf\/;—o @ Itis unclear what the answer

T CRT !%M O [ is referring to when writing:
mw?e_{@m - {lo__ Q”«@Q.__IQQQ ﬁkqpmme ‘experimented randomly’ and

‘through a laboratory experiment’.

o The therapy can be done
through telephone or face-to-
face, but this does not answer the
question. The answer ends with a
restatement of the conclusion of
the study, which is question part
(a) and is not relevant here.

e The answer does not address
the question. The answer shows
no awareness of questionnaires
that were used, and overall the
answer is too vague.

Mark for (b) = 0 out of 4
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Example Candidate Response — low, continued
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Examiner comments

e Here there is a comment about
facial expressions and feelings in
face-to-face therapy, but nothing
to show how this is different from
telephone therapy. The difference
needs stating explicitly.

e This is another comment
about face-to-face therapy but
nothing about telephone therapy.
‘Participant don't lie in face-to-
face’ may or may not be true. This
is anecdotal rather than based on
a fact. Nothing can be awarded
here.

e The point is not clear.
It is the therapy by
telephone that saves time.
Mark for (c) = 1 out of 4

@ A strength is outlined here:
‘availability and how accessible
the telephone can be’. Although
there could be much more detail
and explanation, this isn’t incorrect
so it is awarded 1 mark.

@ ‘Social desirability’ i.e. not
telling the truth, can apply in both
types of therapy. Perhaps it is
more likely over a telephone. This
can be a weakness and is also
awarded 1 mark.

Mark for (d) = 2 out of 5
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How the candidate could have improved their answer

(a) The knowledge of the study by Lovell et al. (2006) was not accurate. The candidate needed to be more accurate
and detailed.

(b) The question asked why and how baseline data was gathered. This answer addressed neither of these. The
knowledge from the study by Lovell et al. (2006) should have been applied to questions.

(c) If a difference between two things is required then both ‘sides’ must be stated. Examiners cannot assume what is
not written. A correct example would be ‘for face-to-face therapy the therapist can see the non-verbal communication
of the patient whereas for telephone therapy the therapist cannot see any non-verbal communication’. Knowledge
from the study, or appropriate psychological knowledge should have been used. This would show that the answer is
based on what has been learned and understood. For example, another difference would be ‘face-to-face therapy
included 10 one-hour sessions whereas telephone therapy had one face-to-face session and eight telephone
sessions’. This shows knowledge directly from the study that has been understood.

(d) The question required two strengths and two weaknesses and a conclusion. The answer provided only one
strength and one weakness and no conclusion. Answers should always be based on psychological terminology and
knowledge. The strength of ‘availability’ was correct, but could have been written by anyone without psychological
knowledge. However, this answer did relate the strength to the study when writing ‘CBT delivered by telephone’.
The weakness used the term ‘social desirability’ which was good, but there could have been much more detail and
explanation, such as what the patient might be lying about.

Common mistakes candidates made in this question

(a) The incorrect assumption is that face-to-face therapy is more effective than telephone therapy. This is a logical
assumption to make for many reasons, but it is incorrect. The two therapies are equally effective. Answers which were
no more than one sentence, a ‘partial’ answer, were unlikely to score both available marks. A little elaboration, such as
an example or explanation was needed for the second available mark to be awarded.

(b)
» Not addressing the question. Answers must answer the question specifically and not provide a general description
of a study.

* Not answering all components of a question. Answers must address the ‘how’ part, which is worth 2 marks, and
also the ‘why’ part, also worth 2 marks. If only one of these components is answered then only half marks can be

awarded.

(c)

+ Not addressing the question. If a difference between two things is required then both ‘sides’ must be explicitly
stated.

» Using anecdotal information rather than quoting knowledge directly from the study.

»  Writing more than two differences. Credit can only be given for two differences and so there is no reason to include
more than two.

* Not focusing on the requirements of the question.
» Writing similarities rather than differences.

« Writing about differences that do not answer the question. The question states ‘delivery of therapy’, so a difference
of any other aspect receives no credit.

» Not addressing the question. The question required two strengths, two weaknesses and a conclusion. If four
strengths or four weaknesses are given, only the best two of each will be credited. A conclusion was a ‘decision
reached by reasoning’ and so any answer providing a summary of points already made was awarded 0 marks.
Writing more than two strengths or weaknesses.

» Not focusing on the requirements of the question. The question stated: ‘of telephone delivery of CBT and so
answers giving strengths and weaknesses of face-to-face therapy are awarded no marks.
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Question 3

Example Candidate Response — high Examiner comments
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0 This is exactly the reason
Lau et al. conducted the study.
‘The effect...over time’ shows it is
longitudinal, and ‘health beliefs
and behaviours of adolescents’
shows knowledge of the study.

e Here is elaboration which
shows good knowledge of the
study and shows understanding.
Mark for (a) = 2 out of 2

e Difference 1: The enduring
family model ‘considers the impact
of the family in early years'.

o Difference 2: ‘parents exert an
influence on their child’.

e Difference 2: ‘they are more
influenced by their peers’.

e Difference 1: The lifelong
model shows ‘how the child is
affected by those around them all
the time’.

ﬂ The two differences are there,
but this answer shows how
organising the answer would
make it much clearer to see the
differences.

Mark for (b) = 4 out of 4

Cambridge International AS & A Level Psychology 9990 16




Example Candidate Responses — Paper 4

Example Candidate Response - high, continued Examiner comments

e Lau et al. do not have an
6 ‘integrative’ model, but they do
1 | have the ‘windows of vulnerability

3 | ()] one ot vnodel can’ o  The  nkeorotive
pode\ ook ! fulce s Jn ospecks . ot

cociotication  frem - Vot fewalw _swad | | model which does, generally, take
ch(s Jocueh o wodel i the offtects of : into account aspects from both
'\ook\f\ of these owe. cen- s\&\erecﬁ ewag) | familyand peers.
-\a¥eqm¥edQqu S g\ue&\m) o Yae students o
Ok Carpeoid. Nellon k= d\b ended in e 9 It isn't quite correct that both
L\)&.L Mol o —u\:txr__m‘o_\:xo.\L \ES Wiete are ‘considered qnd integrated :
AL, S 1O { | Instead parental influence persists
O esu\y OQ QQ\W\\\\I\ S, c.oc.jolizo He g LY buk | unless the person is exposed
w Ut tiane Py 909 cawrye SCcon @G\rv\« ke ‘Hn e m_ to others, for example peers,
cociaization effect of Yot of peers | | who are sufficiently influential to
e’ thss, w\r\po(\'a\r\’r o cons 10ler ’r\\e { | change health beliefs.

sfole X \M’W\ 90\1@“\/\ an o (‘)\\0\,\\ %V

; ] @ The participants were students
: dl\ow_\d)? J@ oeCuC “‘"' ”‘é\n : from Carnegie Mellon so this

shows knowledge from the study.

@ This is very close to being
correct, because with time, others
such as peers, may have an
effect.

@ This is the whole point of the
Lau et al. study, that health beliefs
should be considered over time in
relation to the influences of both
family and peers.

@ This answer just needed the
specific focus on the ‘windows
of vulnerability’ model. However,
much of the detail is very close.
Mark for (c) = 3 out of 4
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Examiner comments

Example Candidate Response - high, continued
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@

\./

Loq\%\'wqumﬁ\-né\es ate - aften conducted  becayse

’Mm hoxe  Yae admn.\:g._?__Ls‘ﬂo_w\_ag o rans jFeon

nhd_o_c\\gnac e s esoec,c\\\\)\ \vindCron ¥

W ;\\\dg)_\bs__\;\eo\‘(\'\ \O‘?‘P)(S \oecg\)&- \\V\ ais
530y e caw O\d’f\nw i formotion Yhal showss

I Ahe_gsXor } (‘\v\é Yoo end _dadd the SE=T}

Tnags \oquesgcé;_gs_w.e.\\ f_carties the

hevelit of be‘ma yadic , )OS people ol less
e\ Yo e Sr )\neu ce

o_noiL yof o \@ m\iu_dum&]_‘

. ‘<\ur§\5)&\c§\ e s 0*\ bene Sk

Lo tudinal_studies® dioud yorying,, ,_Q\ﬂf_\o plogy.

|date m\-\\cL‘s__\m\a_o_tjg&t_\:o_._\mdem\u\\o& ey

Vel \5\ X\C\.hgg_lﬂ.\__br.\\ efs

n VOMPW\ hewever, s ’(\qoﬁd ‘k\nd’ A\ (\0@9 shoas

—(‘(\qu5 Yt pek \\r\? reas ofs for the changes.

Yeople_pianlnk loe_Seen Yo_beceme wnore ‘“w)Hr\

conseions _bot dTwl hok chow why that

Nap pened. Furthermore ’(\rse__peo?\e___m\\)ghj ok |
be Cesponding_te _Sociol_desidlilily bios

{)\)rPOSCS The nrob\cm of beob\e \toving \-e

sawple (‘L\‘\'(‘_\.\LO_VAA__OL\so QNS geacern

for_c\_longihudinal shudies ol Reliehs

| peop \Q_MLC@M\D v mg_\@_u\q‘_\:\rémm \..&\'U_d\

ton N\so_be o privabe ratker of the

\r\nm‘(\\r ke e *M@_PQOP\Q whe  goond '“\cm
m\~u_we True eIPonses .

¥ee
\n_cond ssien, we myusk "mifl& in armd thet e

—sz,’(_’(\uq\—_ X—_$_\S\__S_Q§2C\, ~ession_3n__heo MY

knowmu Y il Jdoto i \99\'{'\3 vsead for \"GS@arch@

peliels ‘s vivel  and we ¢ hedld svercone e

lreason for ik grobless by_vsinoy eualitolive. Cep_em_:nd;é

0pes Nl T8 ohg_-angiruciced. ntertewds se |

Oan\c coan . erplain_Yhe. C\/\C)V\eyn ebiud  thelr

= eq&ov.\m ow_cmé go_p_\ot\qﬂudwm\ i é&&c gkﬁ e an

(

kA ¢ m\ woy e gjm_d)_\ﬁ__n eok\\\_\ae\ eNs .

@ This is a relevant advantage
and it is supported with a ‘health
beliefs’ example. A good start.

@ Longitudinal studies are no
more or less valid than any other
study. Participants are no more or
less likely to lie in a longitudinal
study.

@ The comment ‘show varying,
developing data’ is too vague.
This needs to be explained more,
or supported with an example to
receive credit.

@ This is a good point; an
appropriate weakness. Again, an
example from the study would be
helpful.

@ The participants might ‘respond
to social desirability bias’ but this
is not known. An example would
help to clarify.

@ Attrition is a weakness of
longitudinal studies. But again,
this isn’t related to health beliefs
or the Lau et al. study.

@ It might irritate people, but
they could then withdraw from
the study. An example would
make the point clearly and
unambiguously.

@ This is a relevant conclusion
and it is worth credit.

@ Overall, this answer has one
creditable strength, two creditable
weaknesses and a conclusion.
Mark for (d) = 4 out of 5
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How the candidate could have improved their answer

(b) The candidate should have considered one difference, comparing the two models and then considered a second.
The answer could have been thought through more, and has been less repetitive.

(c) The candidate showed good understanding, but did not focus specifically on the exact model outlined by Lau

et al. which was the ‘windows of vulnerability model’. Using this model would have added a little more clarity and
understanding to the answer.

(d) Each strength or weakness should have followed the same style as the first strength, with an example from the
study by Lau et al. or at least a comment about health beliefs. There should have been two explicit strengths and two
explicit weaknesses, rather than a list of single sentences with no elaboration. Strengths and weaknesses should have
been psychological and they should have related to longitudinal studies rather than to any study.
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Example Candidate Response — middle Examiner comments

Question  Part
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0 ‘Unhealthy behaviours may
be difficult to change’ does not
answer the question of why a
longitudinal study was conducted.
The study by Lau et al. is not
about health promotion.

e Longitudinal studies do take
a long period of time and so this
answer is awarded 1 mark.
Mark for (a) = 1 out of 2

@ The first difference is that the
family affects norms and values
that are formed in early life.

0 In contrast to the above,
the life-long openness model
emphasises free-will and that
every individual is different i.e. not
determined by the family.

e There is only one difference
here, and the second half is not
clearly stated.

Mark for (b) = 2 out of 4
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Example Candidate Response — middle, continued Examiner comments

Question  Part

(& B2

i e The most logical answer to

\y,'__w‘-——_

~~~~~~ e — L R A o e R s 2 % A this question would be Lau et al.’s
%GUAMQA ge\@ er c«.& _taodeX  alam ‘windows of vulnerability’ model as
O ctackove oo us oo, ¢4 a continuation of parts (a) and (b).
"&LUP@’\d RSN \MS \oel K/‘\C& Tz@m’“‘ﬁq‘) @ There is nothing wrong with
\iig ‘/@’0@”91 @/ NN V.V X <SP VJ - A’M@{ an alternative proposal, such as
b “h/ua, L ae 0 O‘WQX \/uz)> ana this which uses Bandura’s self-
S \mon m,(. [(\VU(*‘QVO\QO)W /! O b QI efficacy. What is written here
W b s fove & mm <Oennd is correct about an individual's
o ek efe. {'Dwowa(A et mpEr e control.
I mm)a& T/\M/l/'('h : Q , e The individual may have
r . | | anillusion of invulnerability

and ignore external factors.
Alternatively, that control can be
influenced by ‘other factors’ and
an individual may have such as
‘social norms and beliefs’.

9 This is an interesting answer
because it applies information
from a different topic area to
answer the question. To a
certain extent this is successful,
but the question states ‘...
to explain the influence of
family and peers on health
beliefs’ and this answer does
not address that aspect at all.
Mark for (c) = 2 out of 4
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Example Candidate Response — middle, continued Examiner comments
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B taius Mneatin Voekse) ,@

G | @ There are advantages and

a disadvantage here that are
relevant to longitudinal studies.
However, there are very few
supporting examples and there is
no conclusion.

Mark for (d) = 3 out of 5

How the candidate could have improved their answer
(a) The answer commented on behaviours being difficult to change which did not answer the question. The candidate
should have used knowledge from the study by Lau et al. as the question required in relation to longitudinal studies.

(b) The candidate should have included two differences rather than just one. The answer should have made the
difference more explicit rather than more of a description of the two models.

(c) More explanation should have been provided to explain further or clarify many of the advantages and
disadvantages. Many more examples should have been used to support the advantages and disadvantages either in
relation to health beliefs or from the study by Lau et al. There was no conclusion.
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Examiner comments

0 A longitudinal study does
not require a large number of
participants. This does not explain
why it was longitudinal.

e Same comment. This is still not
answering the question.

e ‘A good amount of data’ does
not make the study longitudinal.
A good amount of data could be
gathered from any study.

o This answer does not answer
the question and so cannot be
awarded any marks.

Mark for (a) = 0 out of 2
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Example Candidate Response —

low, continued
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Examiner comments

6 The life-long openness model
does go beyond family life, so the
answer receives credit for this.
‘takes into account wider issues’
is too vague and it is unclear what
this means. There is a statement
here, but no contrast of both
models.

e ‘is less generalisable’ is too
vague. Families might differ, but
so would the effect of peers in
the life-long model. There is not
enough explanation here for the
difference to be credited.

e There is a vague difference of
one side here, but nothing more.
Mark for (b) = 1 out of 4

@ It is unclear what is meant
here: ‘...adherence to the patients
for better health beliefs’. Does
this mean that if a patient adheres
to medical requests they will be
more healthy?

@ The second part of the answer
is also unclear. ‘...patients made
aware using a fear arousal
campaign...where the influence
of family and peers is explained’
is too vague to be awarded any
credit.

Mark for (c) = 0 out of 4
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Example Candidate Responses — Paper 4

low, continued
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Examiner comments

@ Some longitudinal studies
provide ‘subjective’ data
collection, but some provide
‘objective’ data collection. There
is no further explanation on this
point and no reference to health
beliefs or the study by Lau et al.

m It is unclear what this is
referring to. Longitudinal studies
are conducted for many purposes;
in this case to measure health
beliefs over time and has nothing
to do with either intervention or
treatment.

@ ‘validated and reliable
treatment...’ is a vague sentence
that is not related to the question.

@ Longitudinal studies are
conducted over time, but they
can consist of a 30-minute
questionnaire done once per year,
which would not be considered
time consuming.

@ There is no elaboration here to
explain why longitudinal studies
are expensive. However, if it
involves a questionnaire these are
hardly expensive compared to a
study using a MRI scanner.

@ Data is collected in any study,
and it is not invasive.

@ It is assumed that this is the
conclusion. It is too vague and
says nothing at all.

@ This answer is too vague; it is
not related to health beliefs and
has nothing on the study by Lau
et al. It cannot be awarded any
marks.

Mark for (d) = 0 out of 4
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How the candidate could have improved their answer

(a) The answer had no evidence of knowledge about a longitudinal study.

(b) The knowledge of the study by Lovell et al. (2006) was not accurate. The candidate should have provided two
clear differences both sides presented.

(c) The candidate should have used knowledge of the study by Lau et al. (2006); the best answer to the question
appeared as part of that study and was the windows of vulnerability model. The answer could have more detail to try
and provide a clear explanation.

(d) Both advantages and disadvantages needed much more explanation. Examples from health beliefs should have
been used to support the advantages and disadvantages, even better would be examples from the longitudinal study
by Lau et al.

Common mistakes candidates made in this question

(a) The answer must show knowledge and understanding of longitudinal studies. The answer must also show
knowledge and understanding of the study by Lau et al. Answers which are no more than one sentence, a ‘partial’
answer, are unlikely to score both available marks. Elaboration, such as an example or explanation was needed for
the second available mark to be awarded.

(b) Not addressing the question. This question does not ask for a description of the two models. If a difference
between two things is required then both ‘sides’ must be explicitly stated. Writing more than two differences or giving
a similarity. Credit could only be given for two differences and so there was no reason to include more than two. There
was no credit for any similarity.

(c) Answering the question incorrectly by writing about incorrect ‘made-up’ models or models that have been applied
that do not really fit. The best answer is the ‘windows of vulnerability model’ outlined in the study by Lau et al. Writing
too little detail. Answers which were no more than one sentence, a ‘partial’ answer, was unlikely to score all the
available marks. Elaboration, such as an example or explanation was needed for the full four marks to be awarded.

(d) Not addressing the question. The question required two strengths and two weaknesses and a conclusion. A
conclusion is a ‘decision reached by reasoning’ and so any answer providing a summary of points already made was
awarded 0 marks. Some candidates gave more than two strengths or weaknesses. Four strengths or four weaknesses
is imbalanced and the best two of each will be credited. Writing more than required is poor examination technique.
The question stated: ‘of telephone delivery of CBT’ and so answers giving strengths and weaknesses of face-to-face
therapy were awarded no marks.
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Question 7

Example Candidate Response — high Examiner comments

Question ~ Part : _ ﬂ The chosen method is a
field experiment, presumably

: : conducted in a school, a natural
Q1 (cx} £o. inteshigate the eoffeckiveness k. fear orousy)

\ =t environment for the participants.
fin_eatie weorieo heligehs sue woold conduckl
4 2= ek (o

SEESE (olled . chsewalion. | 9 A volunteer sample is an
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Te mieshiqote feur otonsal effechiveness | wse later.
Lwesld g Yoo lnigjn scheol _and cosduel o © Participants who arrive are
n-(’a.eki_?e_wﬂ et (nokurel. c?’?‘r‘m%} sas_dbetre 0_ divided randomly into three equal
O L e geeple AreCe usho Wl W groups. How this is done is not
vide Wees ; . ‘ ? stated. Is this done randomly by
The_somple woold be ca volunkeer one as ‘ putting ‘na_mes in a hat’ giving
O verice before hond asould be aiven ouk ‘ every participant an equal chance
ot Jhose. whe, oitend This "W\Q-o)'. cosSion ﬁ or any of the three groups, or is it

incorrectly ‘random’ by choosing

: X who is in which group? This
The_sarmole , pon__shre miney vy e fhe o Pormatio should be stated.

Seesion _ceedld be diyid e O Fatchew | Y N eque
LOEups., ohe which (il see '\\kq'}(\_\ﬁ_chr_q;?_\y I o This is good detail of the
?-\dgres ,—Xine which wedld  cee e q_@@g ] procedure. Logically, these are the
Y . Nk, '— - three conditions of the 1V, but it is
00 2 e uds oo\ tee o8 ooresog &8 e stated in the answer

and Westu ‘eor prevenber . 4o e s :

woNd_geX sesre credids |

be and

\n_tlee beasyinning Hheyd be guen <£““»’*§§§9 © Because there are three
tloced ended Queshonneire Yo we bick SN groups and as participants
Lukether Fhey rode Bkes ho whesl (We & perform in only one condition,
wouls \ater discard all fhese who Jo |~ then this independent measures
i) o _wodldo b ol them  bacl _atter @ D design.
o0 weelks (e e auesliennoite o yenld alts '

Meoetlwondlask B ey osove delmels  and houy oben © The use of closed

VALES The fronr puoe oo\ ¥ plemise  themn 6 questionnaires is good. This gives
b \oked maliden ol yo_lo ey re  walidich o ey a measure of helmet use before
no-obked | . B . o s vy | the mtervgntpn and helmet use
: L "f“\’s"“*‘ cocliiGions woellalsee who after it. This is the DV, but that is
G not stated in the answer.

e There is a mention of
confidentiality, but there is no
mention that this is an ethical
guideline to be maintained. There
is no mention of any other ethical
guidelines.

e Confidentiality does not ensure
validity.
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Example Candidate Response - high, continued Examiner comments
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9 It would be clearer to include
this earlier where the three
conditions were explained in
detail.

@ This should go earlier, not here,
to avoid repetition.

m It would be clearer to include
this earlier in the answer when it
was first mentioned.

@ Here is more of the DV.

@ This is not appropriate. Two
raters are not needed to score a
closed questionnaire. A simple
addition of numbers does not
require two people (or even a
computer, as the answer states).
Inter-rater reliability is not needed
with closed questionnaires. It can
be used with open-ended.

@ This is a generally coherent
answer that has many appropriate
design features. There are some
ambiguities, and some things
need more explanation. More
opportunity could have been taken
to include other features, such as
ethics. Some aspects mentioned
are inappropriate, such as two
raters.

Mark for (a) = 8 out of 10
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Example Candidate Response - high, continued Examiner comments
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@ This is a correct comment
because participating in a
laboratory can cause demand
characteristics, whereas
conducting a field experiment,
where participants do not know
they are in a study, removes
demand characteristics. However,
the participants in this design
looked at pictures so knew they
were in a study, and there might
be demand characteristics.

@ This is exactly the way to
answer this question. ‘The sample
was volunteer and not opportunity
because...’ is the beginning of an
explanation of why the sampling
technique was chosen. However,
whether volunteer or opportunity
both techniques need the
informed consent of participants
before exposing them to fear.

@ why would a high school
ensure gender balance? There
are schools just for boys and just
for girls. Why is it an ethnocentric
sample? There is no explanation
and this is evaluation.

@ This is a methodological
decision explaining the reason
why a closed questionnaire was
used.
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Example Candidate Response - high, continued

Examiner comments

Question

Part
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@ An open-ended questionnaire
would show reasoning, so this is
a good explanation of why it was
used.

@ Having two raters does not
make anything reliable. Two raters
may make completely different
judgements and so there is no
reliability. Inter-rater reliability is to
test reliability, which may or may
not be good.

@ Areference here to ethics, but
there was no mention of ethics
in the part (a) suggestion. Is the
answer now evaluating rather than
explaining?

@ The answer is referring to
the study by Leventhal and
although this study is not listed
on the syllabus, it is a legitimate
alternative.

@ The study by Janis (and
Feshbach) is also used here.

@ This is a description of both
studies. What is needed is a
sentence linking this information
with the design suggested in part

(a).

@ ‘she believed it was vital, which
is why we did it’ is the crucial link.

@ It is unclear who Lewin is.

@ This answer has a number of
explanations of methodological
decisions. Whilst some need more
explanation, some are ambiguous
and some are wrong. Relevant
psychological evidence is quoted
and in places it is linked to the
design.

Mark for (b) = 7 out of 8
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How the candidate could have improved their answer

(a) The candidate should have developed further what they had suggested. For example, the candidate stated
‘dividing the sample randomly’ without explaining how this would have been done. Explanations for IV and DV were
provided, but the terms were not actually identified. The same applied to ethics. The IV and DV appeared later in the
answer but they should have been presented in the logical place, not as an after-thought. Ideas were half explained
and then returned to later in the answer. For example, the DV was mentioned in three different places.

(b) The candidate should have thought through more carefully about their answer. For example, what method was
actually used, and would the design create demand characteristics or not? Fewer explanations in more detail would
be better than more in less detail.
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Example Candidate Response — middle Examiner comments

: ﬂ The choice of method is a
ection B S 1 | field experiment and this is an
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§ R |
0 At the end of this paragraph
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O@D\/\f ol f(vr M m@;ﬁm‘(hbu voluntary’ and before this, it is
all  Cawm e - oA lce f”D Yoo ) stated ‘an ad on a notice board'.
[ The sampling technique is now
(o fﬁi’c‘m Locqhen ,eNerz. heey || nown and how this will be
e ok €5 Dev\ NS wno Q acquired is now known. Credit

chowg  ~thean oﬁzonumevdﬂh NV awarded for this design feature.
\aé?e@_ ek “Loh\udfg M (v pple : -
- h) haf oD % Ore Q(‘ﬂvna\ N @_ e The part|C|pant§ are asked
to report to a location where

: ; they are shown a documentary.
Q/\‘i?@(m@ﬁ'% Onr\@u‘b \A\And i) : s

This suggests a specific room
o %@z feax M dowm»\:@av,« Q,mb\/tw\\&x and so this is a laboratory rather
o M ,mjpiy{.oym ce ol wmﬂm m o than a field experiment. There
e PN ooy ‘A‘J T ‘)a is ambiguirt1y here regarding the
t method.
Aegtmal M&ijlc)r/l on _The _cawma ‘ exact method
%P<C H@ﬂ@ e Z&')zf(mnkc@(@li Q e This is an appropriate thing to
O el ‘,'JLMM_%R A Q_yr_ O | do, but there is no explanation of
) M how it is done. Random allocation
would be logical.

o There is an experimental group
and a control group. This is good,
but these are the two conditions of
the IV. The answer does not show
any awareness of this.

e The answer states correctly
that there is a control group and
an experimental group so the
design must be independent
measures.
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Example Candidate Response — middle, continued Examiner comments
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the DV?
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a __\olanet S aL\uurm e mnnp;{lu(-,m groups’.

o V\O@Qﬁﬂ\u\m eh(on it oo Dac

tengtlee 10 degual Wl _abso fhe | | @ TheDVis correctas this coud
Qlag Cite_o\__%ﬁ_u__ Q R‘vuﬂw < ib '
j‘ydf‘mq‘ e Vwm mm @ The answer has a number of
: L \’U?/b"{ o \U@’““W‘ design features included, such as
¢ @vo?m el - Oc s e ékoe Yieneu IV, DV; experimental and control
vC O \QYM/'DQ\/\DQ‘ L Uda - @__| | groups; experimental design and
| J sampling technique. However,

some of these are incorrect or not
fully explained. Whether this is a
laboratory or a field experiment is
ambiguous.

Mark for (a) = 5 out of 10
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Example Candidate Response — middle, continued

Examiner comments
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@ The opening sentence is
correct because the design of part
(a) was based on this study. There
is then a description of the Janis
and Feshbach study and the three
conditions of fear arousal, mild
and neutral arousal are outlined.
There needs to be a statement
to fully relate the psychological
evidence of Janis and Feshbach
to the design of this study.

@ The second half of this
paragraph, describing the results
of that study is a correct piece
of information, but needs to
relate it to the design of this
study. Describing a piece of
psychological evidence does not
answer the question set.

@ It is not clear whether 'Both the
studies’ means the study by Janis
and Feshbach and the design
in part (a). The study by Janis
and Feshbach was a laboratory
experiment not a field experiment.
If a study is conducted in a
natural environment, it does not
automatically make it valid.

@ It is not clear what sample the
candidate is referring to. This is
not answering the question set.

@ This is evaluation of the
design suggested in part (a).
The question does not ask for
evaluation of what was done; it
asks for an explanation of why it
was done.

@ Both Janis and Feshbach and
the suggested study in part (a)
involved watching ‘documentaries’
and so are laboratory experiments
where extraneous variables
can be controlled. The answer
provides no examples of what
these variables might be, so this is
hard to assess.
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Example Candidate Response — middle, continued Examiner comments

Question  Part

. :;/L(\,iqgﬁjc; w;éhiz’ r@ﬁ M ) @ @ This is a fair comment, but it is
- Gk c Goonpr' G - | evaluation.
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@ This is also evaluation.

Toe _fetv  ovoonal @LO(/W‘/LZII‘Q”
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@ There is no distinction between

\p&md\ﬁ eSS  on U tobQi d/rgh/‘fbmq psychological and methodological
LMo, e </VLQQZCDQL mug(naj\ ?ﬁuéﬁbﬂa QJ evidence in this answer. There is
Qv j2») QJ.‘?)L&(;@( s S W&Qﬂ a lot of evaluation. Some relevant
e et @ | points are made.
Mark for (b) = 3 out of 8

How the candidate could have improved their answer

(a) The answer should have developed what was suggested. The candidate should have included relevant
terminology wherever possible, such as stating the IV when describing the control and experimental groups. The
answer was not coherent throughout. For example, the IV and DV were mentioned at the end of the answer, rather
than in more suitable places.

(b) The psychological evidence of the study by Janis and Feshbach should have been related to the design
suggested in part (a) rather than described. The candidate should have made a clear distinction between
psychological evidence and methodological evidence.
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Example Candidate Response — low
Question Part
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Examiner comments

ﬂ These two opening
sentences set the scene, but are
paraphrasing the question, rather
than answering it. No credit for
these sentences.

e The choice of method is an
experiment, so a range of different
aspects that apply to this method
should follow.

e The participants are ‘road-side
volunteers’ and no other comment
is made about the sampling
technique or the sample (male/
female/gender neutral; ages;
sample size, etc.).

0 The method is a laboratory
experiment, so the type of
experiment is mentioned.

e There is no comment about
the participants giving consent to
participate.

© The participants will be told
about ‘horrible’ accidents, which
is correct, but it appears all
participants receive the same
thing, rather than a control group.

0 Comments about IV and DV
are vague. The DV is the measure
of the IV. The comment here is in
relation to the participants.

It is unclear how this comment
relates to the design of the
experiment.

@ It is not clear how the comment
about ‘a heavy fine’ fits with
the design of the laboratory
experiment.
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Quéstion  Part

— low, continued

Example Candidate Responses — Paper 4

Examiner comments
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Example Candidate Response —

Question

Part

low, continued
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Examiner comments

@ It is unclear what is meant
in this paragraph. It this a
methodological or a psychological
feature? It appears to be a
comment about psychological
harm that causes ‘serious head
injuries’ to participants. Do the
participants ‘see people with little
kids dying’ as part of the design
of the study? If so, why design a
study like this? This answer is too
ambiguous to receive any credit.

@ This sentence is also
ambiguous.

@ This comment is correct
because the design was not
longitudinal. However, the
explanation does not relate to
longitudinal at all. The answer
states: ‘people were above 18...
which has nothing to do with being
longitudinal or not.

@ There is nothing in this answer
that can receive credit. What
is written does not answer the
question.

Mark for (b) = 0 out of 8
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How the candidate could have improved their answer

(a) The candidate should have ensured that five design features were included comprising either specific features or
general methodological features or a combination of both (see ‘common mistakes’, below). Then the candidate should
have explained the design features identified. The candidate stated ‘I would have volunteers’ without explanation of
how the volunteers would be obtained. The answer also lacked an introduction and a conclusion.

(b) A clear distinction should have been made between methodological and psychological evidence. Methodological
evidence should have explained design decisions; why a particular method was chosen or why an independent rather
than a related design was chosen. The candidate should have quoted appropriate psychological evidence, such as
aspects of fear arousal.

Common mistakes candidates made in this question

(a) Some candidates did not include the five design features. These are of two types: specific features are those
related to the chosen method (in this instance a laboratory experiment) and include: the setting, independent variable
(IV), dependent variable (DV), controls, experimental design and any other appropriate feature and general features
are any method such as: a hypothesis/null hypothesis, the sample and sampling technique, ethical guidelines, the
type of data gathered, how the data can be analysed, reliability and any other methodological feature.

Some answers did not explain design features. For example ‘l would have a random sample’ without explanation of
how this would be achieved.

Some answers were not coherent throughout. What was suggested at the start of the design should be consistent with
what is suggested in the middle and at the end of the answer. A design feature should be mentioned once rather than
added to in different places as the answer progresses.

(b) Some candidates did not make a clear distinction between methodological and psychological evidence. A
paragraph on each would be optimal. In some answers there was an imbalance between methodological and
psychological evidence. Each aspect carried the same number of marks, so the amount written on each should have
balanced.

Some candidates failed to explain design decisions. For example, not explaining why a particular method was chosen
or why an independent rather than a related design was chosen.

Some answers failed to explain the psychological evidence on which the design was based. For example, this
question required the use of fear arousal and so the study by Janis and Feshbach, as listed on the syllabus, should be
used.

Some described psychological evidence rather than explaining how the evidence was used in the suggested design of
part (a).

The question required explanation and evaluation but few candidates only evaluated the psychological evidence.

Few candidates listed many points, when a few quality points in detail with full explanation was a better strategy.
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Question 11

Example Candidate Response — high Examiner comments
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0 This is a good introduction
because it outlines what is to
be included in the answer and
straight away indicates the
evidence on which the answer will
be based.

e Good sentence outlining that
this paragraph will be the case in
favour of self-reports. A sentence
telling the examiner what is going
on is a good strategy to adopt.

e A good point.

o This is true and creditable.
However, just for information,
although the person observing is
giving a subjective view, they are
‘neutral’; the actual person is also
giving a subjective view and may
exaggerate their pain perhaps to
get treated sooner. The observer
has no need to exaggerate the
person’s pain.

e The McGill pain questionnaire
(MPQ) is a relevant questionnaire
to include at this point, supporting
the argument. Importantly there
isn’t a full (and unnecessary)
description of the MPQ, instead
the answer states what the MPQ
does to support the point being
made.
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Example Candidate Response - high, continued Examiner comments
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Example Candidate Response - high, continued

Examiner comments
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@ Another paragraph and this
is now the conclusion of this
argument. Good technique again.

@ This is a relevant point
to make, but there are no
supporting examples. Perhaps
the answer should write about
electromyography (EMG) because
muscle tension increases during
pain, or electroencephalogram
(EEG)? An example is needed.

@ A good conclusion but it could
have been improved.

@ This answer is well structured
and organised which is good
technique. There are arguments
for both sides, the answer is
balanced, and some evidence
is presented with reasonable
detail. However, there could be
a wider range of arguments and
there should be more evidence:
the UAB scale isn’t mentioned
at all. This answer is level 3 and
scores 9 marks. It is not top band
because the UAB is missing, and
this is crucial to this question. The
reference to the mark scheme
contents will clarify why.

Total mark awarded =
9 out of 12

How the candidate could have improved their answer

This very good answer was level 3 rather than top band because it needed to:

» present a wider range of arguments with more detailed discussion
* include a wider range of examples. Crucially there was no mention at all of the UAB pain scale.
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Example Candidate Response — middle Examiner comments
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arguments are single sentences
without any explanation.
Secondly, there are no supporting
studies, no psychological or
methodological evidence.
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Example Candidate Response — middle, continued Examiner comments

Question  Part
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Total mark awarded =
7 out of 12

How the candidate could have improved their answer
» The candidate explained arguments in more detail in relation to observations and included relevant psychological
evidence. In relation to observations, there was no mention of the UAB scale for example.

» The answer should have had a balance between the arguments and evidence for each side of the debate. There
were many arguments for observations, fewer for self-reports. There was no evidence for observations, but three
examples for self-reports.
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Examiner comments

ﬂ The start of this answer is good
because it addresses the question
right at the start rather than
incorrectly describing information.
However, the statement ‘to
measure pain will never be as
accurate as a self-report’ is
ambiguous because a self-report
can be a measure of pain.

9 Now there is more explanation;
this is a relevant point. The
answer is suggesting that in a
clinical interview the words used
by the patient, the ‘self-report’
will be better than any ‘measure’
because the patient knows their
own pain.

e This is an example of a study
supporting the above suggestion.
The study by ‘Lew et al.” may not
be known to the examiner, as it
is not on the syllabus, but credit
is given for a genuine example to
support the suggestion. Further
detail/explanation here would help
the answer.

@ The study by...Siyle? or Syle? A
Google scholar search reveals no
academic study by Syle or Siyle.
Occasionally answers include
made up names of studies and
examiners check to see if such
studies are genuine. It is not
advisable to adopt this strategy. It
is always better to quote studies
on the syllabus, or well-known
alternatives.

e The comment adds nothing
more to the answer, making the
point that self-reports are better
than questionnaires.

6 The conclusion repeats what
has been stated a number of
times.

e Overall, this is a poor answer.
It lacks detail, examples, and
it doesn’t address the question
because there is no mention of
observation.

Total mark awarded =
3 out of 12
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Example Candidate Responses — Paper 4

How the candidate could have improved their answer
* The debate should have been developed much more, and evidence for both sides presented. There was no
mention of observations or any measure of observations such as the UAB scale at all.

» Self-report was defined by this candidate as the ‘words used by a patient’ and whilst this is appropriate, it could
have been widened out to include self-report questionnaires such as the McGill pain questionnaire (MPQ). This
question carried 12 marks, and answers should be reasonably detailed; this answer was quite brief.

Common mistakes candidates made in this question
» Describing information and studies rather than using such information and studies to address the debate presented
in the question.

» Not considering both sides of the debate; presenting the argument ‘for’ but not the argument ‘against’. The answer
is then imbalanced.

* Not using a range of relevant studies to support the argument presented in the debate. Not taking the opportunity
to bring in evidence, either methodological or psychological.
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